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[0158]

Alnv(l,4) = —g/8 Alnv(1,10) = ¢/8 Alnvll, 13) = —¢/8
Alnv(l,19) = g/8 Alnv(l,24) = —g/8 Alnv(l,25) = —g/8
ATnv(1,31) = /8 ATov (1, 34) = —g/8 ATov (1, 40) = g/8
Alnv(1,48) = g/8 Alnv(1,51) = ~g/8 Alnv (1, 57) = ¢/8
Alnv(2,4) = —g/8 Alnv(Z, 10) = g/8 Alnv (2, 13) = —g/8
Alnv(2,19) = g/8 Alnv(2,24) = ¢/8 Alnv(2,25) = g/8
Alnv(2,31) = -g/8 Alnv(2,34) = g/8 Alnv(2,40) = -g/8
Alnv(2,48) = =g/8 Alnv(2,51) g/8 Alnv (2,57) = —g/8
Alnv(3,1) = -g/8 Alnv (3,10) = g/8 Alnv (3,13) = -g/8
Alav(3,19) = g/8 Alnv(3,24) = —g/8 Alnv (3,25) = g/8
Alnv(3,31) = -g/8 Alnv(3,34) = /8 Alnv(3,40) = -g/8
Alnv(3,48) = g/8 Alnv(3,h1) = —g/8 Klinv(3,57) = ¢/8
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Alnvi4,5) = 1/8 Alny {4, 11) = 1/4 Alnvi(4,17) = 1/8
ATnvi4,26) = 1/8 Alnv(4,32) = 1/4 Alnv(4,38) = 1/8
Alnvi(s,2) = 1/6 ATnv(5,8) = 1/8 Alnv(5,14) = 1/8
Alov(5;20) = 1/6 Alnv(5,44) = 1/8 Alnv(5,50) = 1/8
Alnv(5,56) = 1/6 Alnv(6,23) = 1/6 Alnv (6,29) = 1/6
Alnv(6,35) = 1/6 Alnv(6,41) = 1/6 Alnv(6,47) = 1/6
Alnvi(B,53) = 1/6 Alnv(7,4) = ~1/8 Alnv{7,7) = 1/4
Al {7,10) = -1/8 ATov(7,13) = 1/8 ATnv(7,16) = -1/4
Alnv(7,19) = 1/8 Alnv (7,24} = -1/8 Alnv(7,25) = ~1/8
Alnv(7,31) = 1/8 Alnv(7,34) = -1/8 ATnv(7,40) = 1/8
Alnv(7,48) = 1/8 Alnv (7,51) = =1/8 Alnv(7,57) = 1/8
Alnv(8,4) = 1/8 Alnv(8,10) = -1/8 Alnv (8,13) = 1/8
Alnv(8, 19) = -1/8 Alnv(8,24) = 1/8 Alnv (8, 25) = 1/8
Alnv(8,28) = -1/4 Alnv(8,31) = 1/8 Alnv(8,34) = -1/8
Alne(8,37) = 1/4 Alnv(8,40) = —1/8 Alnv(8,48) = -1/8
Alnv(8,51) = 1/8 ATny (8,57) = —1/8 Alnv(9,4) = -1/8
Alnv (9, 10) = 1/8 Alnv(9,13) = ~1/8 Alnv(9,19) = 1/8
Alovw(9,24) = -1/8 Alnv(9,25) = 1/8 Alnvi(9,31) = -1/8
Alnv(9,34) = 1/8 ATnv (9, 40) = ~1/8 Alnv (9,45) = 1/4
Alnv(0,48) = -1/8 Alnv(9,51) = 1/8 Alnv(9,54) = -1/4
Alnv(9,57) = 1/8 Alnv (10,4) = 1/(8%g) Alnv(10,5) = 1/(8%g)

[0159] Alnv(10,10) = -1/ (8%g) | Alnv (10, 11) = =1/ (4%g) | Alnv(10, 13) = 1/(8%g)
Alnv (10,17) = 1/{Bxg) Alnv (10, 19) = ~1/ (8%g) Alnv(10,24) = 1/(8xg)
Alnv (10, 25) = 1/ (8%g) Alnv(10,26) = 1/(8*%w) ATnv (10, 31) = =1/ (8%g)
Alnv(10,32) = ~1/ (%) | Alnv(10,34) = 1/(8%p) Alnv(10,38) = 1/{8xg)
Alnv (10,40) = ~1/(8*%g) | Alnv(10,18) = =1/(8*%g) | Alnw(10,51) = 1/(8*g)
Alnv(10,57) = ~1/(8%g) | Alnv(11,2) = 1/(6%g) ATnv(11,4) = 1/(8%g)
Alny(11,8) = -1/(B*g) Alnv(11,10) = =1/(8%g) | Alnv(11,13) = 1/(8%g)
Alnv (11, 14) = =1/(8%g) ATnv (11, 19) = =1/ (8%g) ATnv (11,20) = 1/(6%g)
Alnv(11,24) = -1/ (8%g) Alnvi(11,2b) = ~1/(8%g) Alnv (11, 81) = 1/(8%g)
Alnv(11,34) = —1/(8%g) | Alov(11,40) = 1/(8%g) | Alnv(11,44) = —1/(8%g)
Alnv(11,48) = 1/(8%p) Alny(11,50) = —1/(8%g) Alnv(ll,51) = —1/(8%a)
Alnv(11,56) = 1/(b%e) Alnv (11, 57) = 1/(8%g) Alnv(12,4) = 1/({8%g)
ATnv(12, 10) = =1/(8%e) | Alnv(12,13) = 1/(8*g) Alnv(12,19) = ~1/(8xg)
Alnv (12, 23) = -1/ (6xg) Alnvil2,24) = 1/(8%g) Alnv(12,25) = ~1/(8*g)
Alnv(12,29) = 1/ (6kg) ATnv(12,31) = 1/(8%g) ATnv (12, 34) = =1/ (R+g)
Alriv(12,35) = 1/(6%g) Alav(12; 40} = 1/{8%g) Alnv(12,41) = =1/{(6%g)
AMnv(12,47) = 1/ (6xg) | Alnv(12,48) = —1/(8%g) | Alnv(12,51) = 1/(8%g)
Alnv(12,53) = —1/{6%g) | Alnv(12,57) = ~1/(8%g) | AInv(13,4) = -1/ (d*7)
Alnv(13,10) = 1/ n) | Alnv(13,13) = ~1/Uxn) | Alnv(13,19) = 1/¢xx)
Alnv (13,247 = 7/ (12% ) | Alnv(l3,25) = [/(d%n) Anv(l13, 31) = —=1/(4%mn)
Alnv(18,34) = 1/(4exn) | Alnv(13,40) = —1/(xn) | Alnv(13,45) = 5/{6%x)
Alnv(13,48) = 7/(12%m) | Alav(13,51) = 1/(12%n) | Alav(13,54) = ~1/(6%mn)
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Alnv(18,57) = 1/02%n) | Alnv(l4,4) = 1/ {4%m) ATwiv (14, 10) = -1/ (4% )
Alnv(14,13) = 1/4*xn) | Alnv(14,19) = -1/ (d*xn) | Alnv(14,24) = 1/{d%x)
Alnv(14,25) = =7/(12% ) | ATnv(14,28) = -5/(6%n) | Alnv(14,31) = =7/ (12%xn)
Alnv(14,34) = =1/(12% ) | Alnv (14, 37) = 1/(6%x) | Alnv(14,40) = ~1/(12%n)
Alnv(14,48) = =1/(@#n) | Alnv(l4,51) = I/(xx) | Alnv(14,57) = =1/ (d*=n)
Alnv(15,4) = =7/(12%n) | Alav(15,7) = =5/(6%xn) | Alnv(l5,10) = =7/ (12%m)
Alnv(15,13) = -1/7(12% ) | Alnv (15, 16) = 1/{(Gxn) Alnv (15, 19) = -1/ (12% %)
Alnv (15,24) = 1/ (% m) Alnv(15,925) = 1/{4%m) Alnv(15,31) =—1/(4xn)
Alnv(15,34) = [/(4xx) Alnv(15,40) = ~1/(4kn) | Alnv(l15,48) = ~1/(4xm)
Alnv(15,51) = /(4% x) | Alnv(15,57) = -1/(4xn) | Alnv(16,4) = —1/(4%x)
Alnv(16,10) = 1/4xn) | Alnv(16,13) = =1/(4%xn) | Alnv(16,19) = 1/{d%x)
Alnv(16,24) = -1/(12%x) | Alnv(16,25) = 1/(d=xn) | Alnv(16,31) = —1/(4%mn)
Alnv(l6,34) = 1/(4¢n) | Alnv(16,40) = —1/{4% ) | Alnv(16,45) = 1/(6%n)
ATnv(16,48) = ~1/(12% 1) | ATnv(16,51) = ~7/(12%n) | ATnv (16, 54) = ~5/(6xn)
Alnv(16,57) = -7/(12%n) | Alnv(17,4) = 1/ (4% n) Alnv(17,10) = =1/ (4% x)
Alnv(17,13) = /(4% ) Alnv(17,19) = —1/0%n) | Alav(17,24) = I/ {dsn )
Alnv(17,25) = 1/(U12%n) | Alnv(l17,28) = -1/(B%n) | Alnv(17,31) = 1/{12%x)
Aov(17,34) = 7/{12%n) | Alnw(17,37) = 5/(6xm) Alnv(17,40) = 7/(12%m)
Alnv(17,48) = =1/ @xn) | Alne(17,51) = [/(4¥m) Alnv (17, 57) = =1/ (4%m)
Alnv(18,4) = 1/(12%x) Alnv (18, = ~1/(6%x) Alnv (18, 10) = 1/(12%x)
Alnv(18,13) = 7/(12%¢n) | ATnv (18, 16) = 5/ (6%mn ) Alnv (18, 19) = 7/(12%m)

[0160] Alnv(18,24) = 1/(4%m) Alnv(18,25) = 1/ (4% ) Alnv(18,31) = =1/(4%=n)
Alnv(18,34) = 1/ {4xm) Alnv(18, 40) = ~1/ (s n ) | Alnv(18,48) = —1/{4%xn)
Alnv(18,51) = 1/(xn) | Alnv(I8,57) = ~1/(xxn) | Alnv(19,4) = 1/8
Alnv(19,7) = =1/4 Alnv (19,10) = 1/8 Alnv (19, 13) = ~1/8
Alnv (19, 16) = 1/4 Alnv(19, 19) = =1/8 Alnv(19,24) = 1/8
Alnv(19,25) = 1/8 ATriv (19, 27) = 1/8 ATnv(19,30) = ~1/4
Alnv(19,31) = -1/8 Alnv(19,33) = -1/8 Alnv(19,34) = 1/8
Alnv(19,86) = 1/8 ATnv(19,39) = 1/4 ATnv (19, 40) = —1/8
ATnv(19,42) = -1/8 Alnv(19,48) = -1/8 Alnv(19;51) = 1/8
Alnv(19,57) = =1/8 Alov(20,4) = -1/8 ATnv(20,6) = 1/8
Alnv(20,9) = -1/4 Alnv (20, 10) = 1/8 Alnv(20, 12) = -1/8
Alnv{(20,13) = -1/8 Alnv (20, 15) = 1/8 Alnv(20,18) = 1/4
Alnv(20,19) = 1/8 ATnv(20,21) = -1/8 Alnv(20,24) = -1/8
Alnv(20,25) = -1/8 Alnv(20,28) = 1/4 Alnv(20,31) = -1/8
ATnv (20,34) = 1/8 KTnw(26,37) = ~1/4 ATav(20,40) = 1/8
Alriv(20,48) = 1/8 Alav (20,51 = ~1/8 Alnv(20,57) = 1/8
Alnv(21,22) = -1/8 Alnv(21,43) = —1/4 Alnv(21,46) = 1/8
Alnv(21,49) = -1/8 Alnv(21,52) = 1/4 ATnv(21,55) = 1/8
Alnv(22,4) = 1/8 Alnv(22,6) = -1/8 Alnv(22,9) = -1/4
Anv (22, 10} = ~1/8 Knav(22,12) = 1/8 Alavi(22, 13) = 1/8
Alnv(22,15) = ~1/8 Alnv(22,18) = 1/4 Alnv(22,19) = -1/8
ATnv(22,21) = 1/8 ATnv (22, 24) = 1/8 ATnv(22,25) = ~1/8
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[0161]

[0162]
[0163]

[0164]

[0166]

[0167]

[0168]

[0169]

[0170]
[0171]
[0172]

[0173]
[0174]

[0175]

[0176]

Alnv(22,31) = 1/8 Alnv(22,34) = ~1/8 Alnv(22,40) = 1/8
Alnv (22,45) = —1/4 Alnv(22,48) = 1/8 Alnv(22,51) = —-1/8
Alnv(22,54) = 1/4 ATniv (22, 5T) = ~1/8 A28, 22) = ~1/8
Alnv(23,43) = 1/4 Nnv (23, 46) = 1/8 Anv(23,49) = -1/8
Alnv(28,562) = -1/4 Alnv(23,55) = 1/8 Alnv(24,27) = 1/8
AlTnv (24, 30) = 1/4 Alav (24, 33) = =1/8 Alnv (24, 36) = 1/8
Alnv(24,39) = -1/4 Alnv (24,42) = -1/8

x.

g N T I

ATnv(i, DFRA P E T EIFITE.

BT R B K 57 A G B Rz #2430,

[osin(r.s, K
COS(‘L)Bmef]gx sq 24
gz%n(L)BmﬁwMIQMﬂ s

Hp.

O A o ARG RESEOR G TSR R o RS E= 0 250

o A Eoh @) SRR S5, ok i=1e19,

LANEE,

Q HhIR B iR,

KA—BriRZESH,

Ymeﬁ9x24 %n Bcoeﬁ.g,(“ ﬁj\ %IJ j‘:ﬁ%é&ﬁ@ ’ Y(«’mem ;Fn ﬁcoeﬁgxm BZE Elj 3[595773

R WK

3By, VERAE BT
betaCoef (1, 1) = -1/g | betaCoef(2,1) = -1/g betaCoef (2, 15) = —n /2
betaCoef (3,2) = 1/g betaCoef (3,7) = 1 betaCoef (8, 15) = =2 /2
betaCoef(4,1) = 1/g hetaCoef (4, 15) = =n /2 | betaCoef(5,2) = -1/g
betaCoel (5, 7) = 1 betaCoef (5;18) = = /2 betaCoef (6, 1) = 1/g
hetaCoef(6,18) = n/2 | betaCoef(7,2) = 1/g betaCoef(7,7) =1
betaCoef (7,18) = n/2 | betaCoef(8,1) = -1/g betaCoefl (8,21) = -
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[0177]

[0178]
[0179]

hetaCoef (8,23) = ~1 betaCoel (9, 1) = ~1/g betaCoel (9, 14) = - /2
betaCoef {10, 3) = =1/g | betaCoef(10,8) = -1 betaCoef (10, 14) = =n /2
betaCoef(11,1) = 1/g betaCoef (11, 14) = —n/2 | betaCoef(12,3) = 1/g
betaCoef (12,8) = 1 betaCoef (12, 17) = n/2 | betaCoef(13,1) = l/g
hetaCoef (13, 17) = =n/2 | betaCoef(14,3) = -1/g betaCoef (14,8) = -1
betaCoef (14, 17) = n /2 | betaCoef (15, 1) = =1/¢g betaCoef(15,21) = =1
betaCoef (15,23) = 1 hetaCoef (16, 1) = ~1/¢g bhetaCoef(16,21) = 1
betaCoef (16, 23) = 1 betaCoef (17, 1) = —1/g hetaCoef (17,21) = -1
betaCoef (17,23) = -1 betaCoef (18, 1) = -1/g betaCoef (18,21) = 1
betaCoef (18,23) = —1 betaCoef (19, 1) = -1/g betaCoef (19,21) = 1
betaCoef (19, 23) = 1

%4 Y£veﬁ9x.z4 ny‘ EP E(ngﬁ%%

gammaCoef(1,3)=1/g

gammaCoef(1,9)=1

gammaCoef(2,3)=1/g

gammaCoef (2,9)=1

gammaCoef (2,20)=-1

gammaCoef(2,22)=1

gammaCoef(3,3)=1/g

gammaCoef (3,8)=1

gammaCoef (3,20)=1

gammaCoef (3,22)=1

gammaCoef(4,3)=1/g

gammaCoef(4,9)=-1

gammaCoef (4,20)=1

gammaCoef(4,22)=-1

gammaCoef(5,3)=1/g

gammaCoef (5,8)=—1

gammaCoef (5,20)=-1

gammaCoef(5,22)=1

gammaCoef(6,3)=1/g

gammaCoef (6,9)=-1

gammaCoef (6,20)=-1

gammaCoef (6,22)=-1

gammaCoef(7,3)=1/g

gammaCoef(7,8)=1

gammaCoef (7,20)=1

gammaCoef (7,22)=—1

gammaCoef(8,3)=1/g

gammaCoef (8,9)=1

gammaCoef(8,13)=-n/2

gammaCoef(9,2)=1/g

gammaCoef (9,19)=—1

gammaCoef(9,24)=—1

gammaCoef (10,2)=1/g

gammaCoef (10,7)=1

gammaCoef (10,19)=1

gammaCoef (10,24)=—1

gammaCoef (11,2)=1/g

gammaCoef (11,19)=1

gammaCoef (11,24)=1

gammaCoef (12,2)=1/g

gammaCoef (12,7)=-1

gammaCoef(12,19)=-1

gammaCoef (12,24)=-1

gammaCoef(13,2)=1/g

gammaCoef(13,19)=-1

gammaCoef (13,24)=1

gammaCoef(14,2)=1/g

gammaCoef (14,7)=1

gammaCoef (14,19)=1

gammaCoef (14,24)=1

gammaCoef(15,2)=1/g

gammaCoef (15,13)=-n/2

gammaCoef(16,3)=-1/g

gammaCoef(16,9)=1

gammaCoef (16,13)=-n/2

gammaCoef(17,2)=-1/g

gammaCoef (17,16)=n/2

gammaCoef (18,3)=—-1/g

gammaCoef(18,9)=1

gammaCoef(18,16)=n/2

gammaCoef(19,2)=1/g

gammaCoef(19,16)=n/2

[0180]
[0181]
[0182]
[0183]
[0184]

Hop,
betaCoef (i, j)FRBeoet H 11T 56 jHIITTE 5
gammaCoef (i, j) RN Y coet P IITH TR
gy ][ s

g N I s
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[0185] fEi@

s o =0l -0 i BE= el iz, 2018, B SAOREA R

R

o) =0 -0 fiz=0,1,2-18.
[0186] *F%/\ /I%%, lgjl\ %7"%;& [Zhﬂ?iﬁ’fﬁng\Bgy\BgZ&_é‘/\’{_LEJ:E/Jjhﬁﬁ‘i%lﬂ%%

SO BB B o AR B R I S @) FI B R E B o Z KX R R IR

oV ite " =B , Hhi=0,1,2:18,
[0187] ﬂﬁuj:?ifiﬂééj?%iﬂﬁ[l?ﬁﬁ:
*(0} ﬁiI;(O)vd
*(1) B.(l)
[o188] @ = m:-;(z} =| B?” |0 =Bo
7*('13)- (18)
L sy _B _

o189 45 I FEIBIA /b — T4 BT, T 0 = B’ ML iR E S o, &

1 B/ ARUHERE B o T R ARG

[0190] &K5B,' hAEETHK
BInv(1,3) = 1/19 Blnv(l,5) =~-1/19
Blnv(1,9) = -1/19 Binv({l, 11) = 1/19
Binv{1l,15) = =1/19 Blny (1, 17) = =1/19
BInv(l,21) = 1/19 BInv(1,24) = 1/19
Blnv(1,26) = =1/19 Blnv (1,30) = -1/19
BInv{1,32) = 1/19 BInv(l,38) = =1/19
Blnv(1,38) = -1/19 Binv{l,42) = 1/19
BlInv{(1l,45) = 1/19 Blny (1, 48) = 1/19

[0191] B'Inv(l,‘iil) = 1/19 BInv{l, 54) = 1/19
Blnv(1,57) = 1719 Blav(2,1) = 91/5244
Blnv(2,2) = =325/5244 Bluv(2,4) = 91/5244
Rlnv(2,6) = —325/5244 BInv(2,7) = 91/5244
BInv(2,8) = 325/5244 Rlnv{2, 10) = 91/5244
BInvi(2, 12) = 325/5244 BInv (2, 13} = 91/5244
BII]V(2,14) = 325/5244 Blnvi{2, 16) = 91/5244
BInv{(2,18) = =325/5244 Blnv (2, 19) = 91/5244
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[0192]

Blnv(2, 20} = —325/5244 BInv(2, 22) = -16/437
Blnv(2,23) = 7/874 Blnv(2,25) = -16/437
BInv(2,27) = 7/874 BlInv(2,28) = —16/437

Blnv(2,29) = -7/874 BIny(2,31) = -16/437

BInv(2,33) = -7/874 | BInv (2, 34) = -16/437

BInv(2,35) = -7/874 Blnv(2, 37) = ~16/437

Blnv{2,39) = 7/874 Blnv(2,40) = -16/437

Blnv(2,41) = 7/874 Blnv(2,43) = 175/5244
BInv(2,44) = 325/5244 BInv(2,46) = 229/2622
Blnv (2, 47) = -7/874 Blnv(2,49) = 175/5244
Blnv(2,50) = 325/5244 BInv (2, 52) = —16/437

BInv(Z2,53) = 7/874 Bluv(2, 55) = 91/5244
BInv(2,56) = =325/5244 Blnv(3,1) = -33/874

BInv(3,2) = ~7/874 BInv(3,4) = -33/874

Blnv(3,6) = —7/874 BInv{3,7) = -33/874

BInv(3,8) = 7/874 Blnv (3, 10) = -33/874
Blnv(3, 12) = 7/874 Blnyv (3, 13) = -33/874
Blnv(3,14) = 7/874 Blnv (3, 16) = -33/874

Blnv(3, 18) = ~7/874 Blnv(3, 19) = -33/874
Blnv(3,20) = -7/874 BInv(3,22) = 6/437

BInvi{3,23) = 26/437 Blnv (3, 25) = 6/437

BInv(3,27) = 26/437 Blnv(3,28) = 6/437

BlInv(3,29) = —26/437 BInv(3,31) = 6/437

BInv(3,33) = ~26/437 Blnwv(3,34) = 6/437

Blnv(3,35) = -26/437 Blnv(3,37) = 6/437

BInv(3, 39) = 26/437 BInv (3, 40) = 6/437

BInv(3,41) = 26/437 BInv(3,43) = 71/874

Blnv(3,44) = 7/874 BInv {3, 46) = 13/437

BInv(3,47) = =26/437 Blnv(3,49) = 71/874
Blnv(3,50) = 7/874 Blnv (3, 52) = 6/437

BInv(3,53) = 26/437 Blnv(3,55) = -33/874

Blnv(3,56) = -7/874 Blnv (4, 1) = —13/(276%Qxcos (L))
Blnv(4,2) = 7/(276%xQ*cos (L)) BInv{4,4) = —13/(276%Q*cos (L))
BInv(4,6) = 7/(276% Qxcos (L)) Blnv(4,7) = =13/ (276%Q%cos(L))
BInv(4,8) = -7/{276%Q%cos (1)) | Blnv({4, 10) = =13/ (276%Q%cos (L))

BInv(4, 12) = =T/ (276%Q *cos (L))

Blnv (4, 13)

—13/(276%Q*cos (L))

Blnv {4, 14)

=7/ (276% Q xcos(L))

BInv (4, 16)

1

-13/(276%Q *cos (L))

Blnv(4,18) = 7/(276%Q#*cos (L)) | Blnv(4,19) = ~13/(276%xQ%cos (L))
Blnv(4,20) = 7/(276%Q#*cos(L)) | BInv(4,22) = -1/(23%Q%cos(L)) |
BInv(4,23) = —1/(46%Q%cos (1)) | Blav(4,25) = -1/(23%Qx¢cos (L))
Blnv(4,27) = —1/(46%Q%cos(l)) |Blnv(4,28) = —1/(23%Q*cos(L))
Blnv(4,29) = 1/(46%Q%cos (L)) Blnv (4, 31) = ~1/(23% Q*cos (L))
Binv(4,33) = 1/(46% Q*cos (L)) Blnv(4, 34) = ~1/(23%Q*¢cos (L))
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BlInv(4,35) = 1/(46%Q%cos(l)) Blnv (4, 37) = —1/(23%Q%cos (L))
Blnv(4,39) = ~1/(46%Qx%cos(L)) | BInv(4,40) = —1/(23% Q*cos (L))
BInv(4,41) = ~1/(46% Q%cos(L)) | BInv(4,43) = —-25/(276% Q%*cos (L))
BInv(4,44) = -7/(276%Q%*cos (L)) | Blnv (4, 46) = —13/(138%Q%xcos (1))
[0193] Blnv(4,47) = 1/(46%Q*cos(L)) | Blnv(4,49) = -25/(276% Q#cos(L))
Blnv(4,50) = ~7/(276%Q*cos (L)) | Blnv(4,52) = ~1/(23% Q%cos (L))
Blnv(4,53) = ~1/(46%Qx%cos(L)) | Blnv(4,55) = -13/(276% Qx*cos (L))
BInv(4,56) = 7/(276% Q%cos (L))
[0194]  Fr,
[0195]  LAZHRE,
[0196] O JyhBk %% MR,
[0197]  BInv(i, )% =B, hEiIfTHEFITE.
[0198] JPIRA . M—FriRZESHKM iR 2S5 o RE KX T RER, H—FriRZS35
KR - FriR 22 S0 o FRZEFMERTIR AR B R Z S HL AR G I 211 — B iR Z S 5K ik

SR o YOS BT RN BRI & o B A B S U R, BREAT IR B
PR BEA o ISR O, RS KR PR E SR o REMMS, RIF A —
iR ZE S BKM iR 2 S8 o BT RZEAME R IL IS, ed Z SR E R KIBs At
RPN — PR ESHEN R E S o RED T HE.

27



CN 103994775 B

in B H M

1/1 3

5 2H T AR

v

AR e R S

v

BREZH

y

O E LR —Fr R4

B L i S

y

BRI SRR S
2 AR LB R0 18 B g —
e B AR BT S

¥
I BRI AR, kRH—izE
BHK

v

A Wiz 2= 28K 5 250-1841
B ER A 2

v

B b SR R SR
LI R SRR B ST A

Y

R BRI, HRR iR a2 s
Frw

RS TR

WELREH

,

dhk

3N

28

AMEERT R
EZH




